il saxt e 2
=2 =

CIPNES 712l 712l MH 2H| 100,000
2 SIPNES 7 MOO ME 2| 20,000
3 HIX[E | HIGE[AEHE 2 (AHZI00HE MH 2H| 100,000
4 SIPNES 7 MOO ME 23| 20,000
5 CIPSES] 712l MOO e 2| 20,000
6 HIX[E | HIGE[ALERR 2 (AhHZI00E MH 2| 100,000
7 CIPNES 712l MOO e 2 FH| 20,000
8 HIX[E | HIGE[ALERR 2 (AHZI00E MH 2| 100,000
9 CIPSES] 712l MOO e 2| 20,000
10 HIX|E | HIG2[AMEHE QI (AhZI00E MlE 2G| 100,000
11 HIXIE | HIGElALE | EO00000 Y AlE 2| 197,800
11 SIPNES 742l CIOOONE ME 23| 500,000
12 SIPNES 742l HOHOB® e 2| 300,000
13 SIPNES 742l MOO ME 23| 100,000
14 HIXIE | 2d0|At+¢ CIPNESS 308
15 H| XS 742l MOO ME 23| 20,000
16 BIX[E | HIGe[AEHE 2l (AHZI00E MH 2H| 100,000
17 HIX|H 742l MOO ME 2| 20,000
18 BIX[E | HIGE[AEHE 2l (AHZI00E MEH 2FH| 100,000
19 HIX|H 742l MOO ME 2| 20,000
20 BIX[E | HIGE[ArEHE 2l (AHZI00E MEH 2H| 100,000
21 HIX|H 742l MOO ME 2| 20,000
22 HIX|E | HIGE[AMEHE QI (AHZI00E MH 2H| 100,000
23 HIX|H 742l MOO ME 2| 20,000
24 HIX|E | HIG2[AMEHE QI (AHZI00E ME 2| 100,000
25 SIPNES 742l MOO MEH 2| 20,000
26 HIX[E | HIGE[ALEHR 2 (AHZI00E ME 2FH| 100,000
27 SIPNES 742l OO ME 2| 100,000
28 EIPNES H| G 2|2l SFO00001 AH 2| 4,000,000
35 HIXE | 2™0|xt+Y HX|H 169
36 EIPNES 712l MOO AE 2ZH| 20,000
20239 HIX|Y 2F ¢ 4 6,537,800
2023 A= 0| Z 0| Xt 477
A o] +0f 30| X} 7,117,314
20238 2R ¢ A o|EZ = 13,655,591




